[image: image1.png]A. Consider the circuit shown at right. The switch is
initially closed, as shown (so that current can
flow). All bulbs are identical.

i Rank the brightness of the bulbs in the
circuit. Explain your reasoning.
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ii. The switch is now opened.
1. Does the brightness of bulp C increase, decrease, or remain the same?




[image: image2.png]B. Consider the circuit at right, containing four bulbs
attached to an ideal 1.5 volt battery. A voltmeter is
placed across bulb D and the reading on the voltmeter
is 0.6 V. What will the voltmeter read when placed
across the remaining three bulbs? Enter your answers
in the space provided and explain your reasoning.
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